


TABLE OF CONTENTS

SPECIFICATIONS AND CONFIGURATION OPTIONS 3
UNPACKING 4
ASSEMBLY INSTRUCTIONS 6
INSTALL WITH WING 17
INSTALL WITHOUT WING 26
FOLDING THE OUTFEED TABLE 33
INSTALLING WITH OVERARM DUST COLLECTION 34

Copyright SawStop, LLC
All Rights Reserved

Original Instructions - Folding Outfeed Table

Updates to this manual and additional related documentation such as
exploded views and parts lists are available at SawStop.eu or SawStop.uk

www.SawStop.eu/support

EN - Additional translations of this manual are available from the above URL.
IT - Ulteriori traduzioni di questo manuale sono disponibili all'URL sopra indicato.
NL - Bijkomende vertalingen van deze handleiding zijn beschikbaar via de bovenstaande URL.
SV - Ytterligare översättningar av denna bruksanvisning är tillgängliga via ovanstående URL.
FI - Oppaan muita käännöksiä on saatavilla yllä olevasta URL-osoitteesta.
DA - Der kan findes yderligere oversættelser af denne vejledning på ovennævnte webadresse.
NB - Ytterligere oversettelser av denne håndboken er tilgjengelige på ovenstående

internettadresse.
PT - Traduções adicionais deste manual estão disponíveis no URL acima.
CS - Další překlady tohoto návodu jsou k dispozici na výše uvedené adrese URL.
PL - Dodatkowe tłumaczenia tej instrukcji dostępne są pod powyższym adresem WWW.

2| Folding Outfeed Table Owner's Manual





UNPACKING
Before you begin installing the Folding Outfeed Table, locate the Folding Outfeed Table Hardware
Packs and the rear rail and miter slots on your table saw. All of the hardware needed to install the
Folding Outfeed Table is located in the Hardware Packs and is shipped in the Folding Outfeed Table
box. Please unpack the parts carefully and confirm you have received each item shown below.

4| Folding Outfeed Table Owner's Manual





ASSEMBLY INSTRUCTIONS
REQUIRES: Table Roller Hardware Pack (H) 5mm hex wrench

Insert Table Hardware Pack (I) 10mm wrench

The first step in assembling the Folding Outfeed Table is to assemble the three table rollers (E and F)
(refer to parts inventory on page 4) and attach two table tubes (A) to each table roller. Referring to
the diagram below of one of the table tubes (A), note the solitary hole (U) at the left end. This solitary
hole goes nearest the table saw. The sets of paired holes are used to mount the table tubes (A) to the
table support tubes (B), and the solitary holes are used to attach the rear rail clamps (K). As you
progress through the assembly steps that follow, you may find it helpful to refer back to this
diagram.

Q. Table roller mounting
hole

R. Table support tube
mounting holes

S. Insert table mounting
holes

T. Table support tube
mounting holes

U. Rear rail clamp
mounting hole

The table support tube mounting holes and clamp mounting holes on the top surfaces of each table
tube are larger than the corresponding holes on the bottom surfaces of the table tubes. This allows
socket head cap screws to be inserted to secure the table tubes to the table support tubes. Not all of
the paired holes are used to mount the table tubes to the table support tubes; different holes are
used for different configurations.

There are five solitary holes in both sides of each table tube: the ones furthest from the clamp
mounting holes are used to attach a table roller to the table tube, and are not used in every table
tube.

The rear three holes on each side of the table tubes are used for mounting the insert table.

1. Place two table tubes (A) on a flat surface, such as a table, with the five larger table
support tube mounting holes on the bottom, and the roller mounting holes on the sides.

Insert an M6 x 45 socket head cap screw (H1) through an M6 x 16 washer (I2), then through
the roller mounting holes in one of the table tubes (A) (with the head of the socket head

6| Folding Outfeed Table Owner's Manual















Folding Outfeed Table Owner's Manual| 13

REQUIRES: Tube End Cap Pack (N) 10mm wrench
5mm hex wrench

8. Install a tube end cap into the open ends of both table tubes attached to the insert table.

9. Slide the two rear rail clamps (K1) onto the rear rail of the table saw, and use a 5mm hex
wrench to tighten the M10 x 20 set screws (J3) against the rear rail.

Pivot the insert table and attached table tubes up until the top surfaces of the insert table
and table tubes are parallel with the top of the saw table.

Lay a straight-edge across one of the table tubes so that it extends over the top of the saw
table as well. The top surface of the table tube should be flush or just beneath the top of
the saw table. The height of the table tubes relative to the saw table can be adjusted by
changing the number of M6 washers (J4) above and below the clamp mounting brackets.



If a table tube extends above the saw table, use a 5mm hex wrench and a 10mm wrench to
remove the M6 lock nut (J5) securing the clamp mounting bracket (J6) to the table tube
(A). Move one of the washers from above the clamp mounting bracket to below the clamp
mounting bracket, then replace the original four washers beneath the clamp mounting
bracket and M6 lock nut and tighten the lock nut. Alternatively, if a table tube is too low
relative to the saw table, move one of the washers from below the clamp to above the
clamp.

Recheck the alignment and move more washers as necessary. Then repeat this
adjustment for the clamp on the other side of the insert table. Recheck both table tubes to
make sure they are still correct.

Use a 5mm hex wrench to loosen the set screws and remove the rear rail clamps from the
rear rail.

Set the assembly aside.

10. Position one of the two remaining rear rail clamps (K1) between one of the sets of table
tubes (A) attached to a small table roller (E).

WITH WING CONFIGURATION ONLY:
Position one of the two remaining rear rail clamps (K1) between
one of the sets of table tubes (A) attached to a small table roller
(E).

WITHOUT WING CONFIGURATION ONLY:
Position the remaining rear rail clamps (K1) between one of the
sets of table tubes (A) attached to a small table roller (E).

Orient the clamp so the rear rail clamp is between the table tubes, the clamp mounting
bracket (J6) extends under one of the table tubes (A), and the open end of the clamp
extends away from the small table roller.

Align the hole in the top of the clamp mounting bracket (J6) with the clamp mounting holes
in the end of the table tube. Insert an M6 x 20 socket head cap screw (J1) down through the
clamp mounting holes in the table tube, then through the same number of M6 x 16 washers
(J4) you used between the clamp mounting bracket and the table tube with the insert table
in the previous step, then through the hole in the clamp mounting bracket (J6) and the
same number of M6 washers (J4) you used between the clamp mounting bracket and the
lock nut in the previous step. Lastly, secure the washers with an M6 lock nut (J5). Use a
5mm hex wrench and a 10mm wrench to tighten the lock nut.

14| Folding Outfeed Table Owner's Manual



Folding Outfeed Table Owner's Manual| 15

WITH WING CONFIGURATION ONLY:
Repeat this process with the last rear rail clamp and set of table
tubes attached to the remaining small table roller. The two
assemblies with the small table rollers should be mirror images
of one another. One should have the rear rail clamp on the left
table tube (from the user perspective), and the other should have
the rear rail clamp on the right table tube (see illustration above).

WITHOUT WING CONFIGURATION ONLY:
Disregard that this sub-assembly is duplicated in the illustration
below. Only one is such assembly is required for the without wing
configuration.



11.
WITH WING CONFIGURATION ONLY:
Install a tube end cap (N1) into the open ends of the four table
tubes (A) attached to the two small table rollers (E) and into the
open ends of the remaining two solitary table tubes (not attached
to table rollers).

WITHOUT WING CONFIGURATION ONLY:
Install a tube end cap into the open ends of the two table tubes (A)
attached to the small table roller (E) and into the open ends of
two solitary table tubes (not attached to table rollers).

Additional end caps, will be installed later.

WITH WING CONFIGURATION ONLY:

Proceed with step 12 on page 17.

WITHOUT WING CONFIGURATION ONLY:

Proceed with step 12 on page 26.

16| Folding Outfeed Table Owner's Manual



Folding Outfeed Table Owner's Manual| 17

INSTALL WITH WING
After completing common steps (1-11), proceed with the instructions
below to finish installation of your folding outfeed table if your chosen
configuration leaves the left extension wing installed on your saw. You
can find more information about this on page 1.

12. Place the four table support tubes (B) on the floor behind your table saw and align them as
shown. In order to align the table support tubes, place two tubes next to each other, with
the ten table tube mounting holes on the top and bottom and the two support leg mounting
holes on the sides.

BA. Table tube mounting holes BB. Support leg mounting holes

If all the mounting holes align, turn one of the tubes 180 degrees, so only the mounting
holes at the ends line up. Then slide the table support tubes relative to one another until
the non-overlapping portions of each tube have three mounting holes, and four mounting
holes on each tube overlap, as indicated by the red circles below.





Folding Outfeed Table Owner's Manual| 19

REQUIRES: Support Leg Hardware Pack (M) 13mm wrench
5mm hex wrench

14. Locate the two support legs (C) and remove the two leveling feet (M5) from the Support
Leg Hardware Bag along with the two M8 hex nuts (M4). Thread an M8 hex nut onto the
threaded shaft of each foot so that the nut is close to the rubber base, and then thread the
foot into the bottom of a support leg.

15. Place one support leg (C) between the two sets of table support tubes (B), with the open
end of the support leg on the left and the leveling foot (M5) extending toward the right
(from the user perspective).

Align the mounting hole in the top of the support leg (C) with the support leg mounting
hole in the table support tube (B). Insert an M8 x 70 button head socket screw (M1) through
an M8 x 20 washer (M2), then through the exposed mounting holes in the support leg,
another M8 x 20 washer M2), the exposed mounting holes in the table support tube,
another M8 x 20 washer (M2), and an M8 lock nut (M3).















INSTALL WITHOUT WING
After completing common steps (1-11), proceed with the instructions
below to finish installation of your folding outfeed table if your chosen
configuration requires the left extension wing removed from your saw.
You can find more information about this on page 1.

12. Place two table support tubes (B) on the floor behind your table saw and align them as
shown below. The four sets of paired together holes should be on the left (from the user
perspective), and the two solitary holes should be on the right.

BA. Table tube mounting holes BB. Support leg mounting holes

26| Folding Outfeed Table Owner's Manual



Folding Outfeed Table Owner's Manual| 27

REQUIRES: Table Tube Hardware Pack (L)

13. Position the two table tubes (A) attached to the insert table (D) across the two table
support tubes (B), with the insert table and rear rail clamps on the end closest to the table
saw.

Align the mounting holes in the table tubes with the holes marked as “X” in the illustration
below.















INSTALLING WITH OVERARM DUST COLLECTION
On any Professional Cabinet Saw using a 36" (910mm) fence rail system, the Folding Outfeed Table
and the TSA-ODC Overarm Dust Collection system are both mounted on the rear rail. For both to
mount on the rail as required, while allowing for folding of the TSA-FOT, you must either:

1. Cut the lower Overarm Dust Collection Tube (Procedure listed below) - or -
2. Shift the Overarm Dust Collection to the right, extending it 12” (305mm) past the end of

your extension table (Procedure listed on the next page).

To cut the lower TSA-ODC tube:

Measure 12” (305mm) from the end of the lower tube (see arrow in the illustration below), mark the
measurement. Cut the tube at the 12” (305mm) mark. Install the TSA-ODC per its provided
instructions.

34| Folding Outfeed Table Owner's Manual



Folding Outfeed Table Owner's Manual| 35

To shift the TSA-ODC to the right:

Install the TSA-ODC per its provided instructions, with one modification: Place the tube clamps near
the end of the rear rail, allowing the lower rigid tube to extend 12” from the edge of your extension
table.



85-008180-00
A - 05022025


